Dr. Matthew M. Conroy - University of Washington

Logarithm Practice Problems

L. For the following expressions, rewrite them in the form y = Ayb”.

1.y =2(3%)
e
2.y = 1362
3. Y= 20.3:1:+4
4. y = 3.54°2.7°
5.y =4%"7
6. y = 14"
7. y = 8.43(1.06)° "

II. Give a decimal value for the solution to each of the following equations.

1. 3 =8
2x

66.2:1575.5 — 61

logs xlog,z =Inx
3(107) = 2*/7
23" = 10000

N S @A o= W

In(Inz) = logyy(logy z)
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Answers
I
1. y = 2(243%)
2. y = 1.8496(2.20588235%)
3.y = 16(1.2311444%)
4. y = 9.558"
1
5. = —16°
Y= T332 0

II.

N o o e w N

1 X
— 537824 ( —
y = 5378 < : 4)

y = 10.040264880(0.88999644001%)

x = 0.473197315178593077824...

x = 1.645968571090858445906165467 ...
x = 1.247663316374633609717045466...
x = 1and z = 3.051329359665808767723727091...
x = —0.5616594212987628162670625001...
x = 2.354642992466101874338048884...

x = 1.694079348229416586167219024...



